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QUESTION 1

What is the minimum OpenShift 3.11 cluster configuration needed for a medium or large Cloud Pak for Automation
production environment? 

A. 3 master. 2 compute nodes, 2 etcd nodes, 3 infra nodes 

B. 1 master, 2 compute nodes, 2 etcd nodes, 2 infra nodes 

C. 1 master, 3 compute nodes, 3 etcd nodes, 3 infra nodes 

D. 3 master, 3 compute nodes, 3 etcd nodes, 3 infra nodes 

Correct Answer: C 

 

QUESTION 2

Which step helps to check the completeness of license usage data? 

A. Log in to the cluster and run the command to check status of any individual product. 

B. Check the list of pods from which the License Service might not collect license usage. 

C. Check if the License Service was successfully deployed on the cluster by using available tools. 

D. Run health checks by the License Service and use the log service to monitor the log. 

Correct Answer: C 

 

QUESTION 3

A customer is upgrading their Cloud Pak for Automation environment from version 19.0.3 to version 20.0.1 and they
have Operational Decision Manager, Business Automation Insights. Business Automation Studio, and UMS installed. 

What is the minimum custom resource YAML files that need to be updated to perform the upgrade? 

A. 2 

B. 4 

C. 5 

D. 1 

Correct Answer: A 

 

QUESTION 4

Which product can be used by a business analyst to configure an ontology? 
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A. Business Automation Insights 

B. Business Automation Studio 

C. Datacap 

D. Business Automation Content Analyzer 

Correct Answer: A 

 

QUESTION 5

What Operational Decision Manager index pattern is used in Business Automation Insights out of the box? 

A. Decision summaries 

B. Time series 

C. Flow series 

D. Rule summaries 

Correct Answer: B 
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